



HAL
open science

Using the Entringer numbers to count the alternating permutations according a new parameter

Christiane Poupard

► **To cite this version:**

Christiane Poupard. Using the Entringer numbers to count the alternating permutations according a new parameter. *Annales de l'ISUP*, 2000, XXXXIV (1), pp.73-86. hal-03651143

HAL Id: hal-03651143

<https://hal.science/hal-03651143>

Submitted on 25 Apr 2022

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

Pub. Inst. Stat. Univ. Paris
 XXXIV, fasc. 1, 2000, 73 à 86

Using the Entringer numbers to count the alternating permutations according a new parameter

Christiane POUPARD

*Université Pierre et Marie Curie
 (PARIS VI)
 ISUP, LSTA*

Abstract

The Entringer's integers were counting the down-up (or up-down) permutations according to the first or the last term ; In this paper they are shown to enumerate the same permutations according to the absolute difference between the first and the last terms.

1.- An up-down (resp. down-up) permutation of order n is a permutation

(a_1, a_2, \dots, a_n) of $\{1, \dots, n\}$ with

$$a_{2p-1} < a_{2p}, a_{2p+1} < a_{2p} \quad (\text{resp. } a_{2p-1} > a_{2p}, a_{2p+1} > a_{2p})$$

$$\text{for every } p \in \left\{ 1, \dots, E \left[\frac{n}{2} \right] \right\}.$$

An alternating permutation is an up-down or down-up permutation.

Entringer has studied the enumeration of up-down (or down-up) permutations according to the value of their first term.

For $n \geq 1, k \geq 1$ let ϵ_n^k be the number of up-down permutations of order $n+1$ starting with $n-k+1$; ϵ_n^k is also the number of down-up permutations of order $n+1$ starting with $k+1$.

We have the following recurrence relations :

$$\epsilon_n^k = 0 \quad \text{for } n \geq 1, k \geq n+1 ;$$

$$\epsilon_1^1 = 0 ;$$

$$\epsilon_n^k = \sum_{j=n-k}^{n-1} \epsilon_{n-1}^j \quad \text{for } n \geq 2, 1 \leq k \leq n-1 ;$$

$$\epsilon_n^n = \epsilon_n^{n-1} \quad \text{for } n \geq 2 .$$

We can write the first values of the coefficients ϵ_n^k

	k=1	2	3	4	5
n=1	1				
2	1	1			
3	1	2	2		
4	2	4	5	5	
5	5	10	14	16	16

Another way to get the Entringer numbers is to count the up-down or down-up permutations according to the value of their last term.

For instance, if n is even, there are e_n^k up-down permutations of order $n+1$ ending with $n-k+1$.

Let $\mathcal{U}_n(\ell, k)$ (resp. $\mathcal{V}_n(\ell, k)$ and $\mathcal{S}_n(\ell, k)$) be the set of up-down (resp. down-up and alternating) permutations of order n starting with ℓ and ending with k and let $u_n(\ell, k)$ (resp. $v_n(\ell, k)$ and $s_n(\ell, k)$) be its cardinality.

We also define, for instance, $u_n(\ell, \cdot)$, the number of up-down permutations which start with ℓ .

For $d \in \mathbb{Z}$, $-n+1 \leq d \leq n-1$ et $d \neq 0$,

$$\mathcal{C}_n(d) = \{(x, y) / 1 \leq x \leq n, 1 \leq y \leq n, x-y = d\},$$

$$\text{we write } U_n(d) = \sum_{(i,j) \in \mathcal{C}_n(d)} u_n(i,j)$$

$$\text{and } V_n(d) = \sum_{(i,j) \in \mathcal{C}_n(d)} v_n(i,j)$$

$$\text{and } S_n(d) = \sum_{(i,j) \in \mathcal{C}_n(d)} s_n(i,j).$$

Let us consider the permutation $\{a_1, \dots, a_n\}$. $a_1 - a_n$ will be its "deviation", and $|a_1 - a_n|$ its "separation".

We state the two following propositions :

for $1 \leq d \leq n-1$,

Proposition 1 : The numbers of alternating permutations of order n and deviation d is equal to the number of up-down (or down-up) permutations of order n and separation d .

Proposition 2 : the number of up-down (or down-up) permutations of order n and separation d is equal,

if n is even, to the number of up-down permutations of order n whose first term is d and if n is odd, to the multiplication of $n-d$ by the number of up-down permutations of order $n-1$ whose first term is d .

These two propositions may be reformulated as follows :

$$1) \quad S_n(d) = U_n(d) + U_n(-d) = V_n(d) + V_n(-d)$$

$$2) \quad U_n(d) + U_n(-d) = V_n(d) + V_n(-d)$$

$$= \begin{cases} u_n(d, \cdot) & \text{if } n \text{ is even} \\ (n-d) u_{n-1}(d, \cdot) & \text{if } n \text{ is odd} \end{cases}$$

We illustrate these propositions for $n = 6$ and $n = 7$ (cf p. 10, 11, 12).

2. - First, we prove some relations concerning the numbers $u_n(\ell, k)$, $v_n(\ell, k)$ and $s_n(\ell, k)$.

1) The following symmetric relations go straight forward.

If n is odd,

$$u_n(\ell, k) = u_n(k, \ell) \quad (1)$$

$$v_n(\ell, k) = v_n(k, \ell) \quad (2)$$

For instance, to verify (1), we can use a bijection between $\mathcal{U}_n(\ell, k)$ and $\mathcal{U}_n(k, \ell)$: by reading from right to left, a permutation of $\mathcal{U}_n(\ell, k)$ becomes a permutation of $\mathcal{U}_n(k, \ell)$.

A similar argument can be applied to prove (2).

Likewise, it can be proved that, when n is even,

$$u_n(\ell, k) = v_n(k, \ell) \quad (3)$$

It can also be easily proved that for all n , there is a bijection between $\mathcal{U}_n(\ell, k)$ and $\mathcal{V}_n(n+1-\ell, n+1-k)$:

we have only to transform the permutations of $\mathcal{U}_n(\ell, k)$ via complementation, i.e., to replace the term i of a permutation by $n+1-i$.

Therefore,

$$u_n(\ell, k) = v_n(n+1-\ell, n+1-k) \quad (4)$$

2) Then, let us establish the following recurrence relations :

for $\ell > k$

$$u_n(\ell, k) = v_{n-1}(\ell, k) + u_n(\ell+1, k) \quad (5)$$

and for $\ell < k$

$$u_n(\ell, k) = v_{n-1}(\ell, k-1) + u_n(\ell+1, k) \quad \text{if } \ell+1 < k \quad (6)$$

and

$$u_n(\ell, k) = u_n(\ell+1, k-1) \quad \text{if } \ell+1 = k \quad (6')$$

$$(v_{n-1}(\ell, k-1) = 0 \quad \text{if } \ell+1 = k)$$

Indeed, for $\ell > k$, we define a bijection between $\mathcal{U}_n(\ell, k)$ and $\bigcup_{i=\ell}^{n-1} \mathcal{V}_{n-1}(i, k)$

as follows : given a permutation of $\mathcal{U}_n(\ell, k)$, we can define a permutation of

$\bigcup_{i=\ell}^{n-1} \mathcal{V}_{n-1}(i, k)$

by omitting its first term, by decreasing (subtracting one unit) the terms of the permutation greater than ℓ and by keeping the others, i.e.,

$$\mathcal{U}_n(\ell, k) \rightarrow \bigcup_{i=\ell}^{n-1} \mathcal{V}_{n-1}(i, k)$$

$$(a_1 = \ell, a_2, \dots, a_n = k) \mapsto (\tilde{a}_2, \dots, \tilde{a}_n),$$

where, for $2 \leq j \leq n$

$$\tilde{a}_j = \begin{cases} a_j - 1 & \text{if } a_j > \ell \\ a_j & \text{otherwise} \end{cases}$$

$$(\tilde{a}_n = k)$$

Consequently

$$u_n(\ell, k) = \sum_{i=\ell}^{n-1} v_{n-1}(i, k)$$

We are now ready to prove (5).

Indeed, we can decompose $\bigcup_{i=\ell}^{n-1} \mathcal{V}_{n-1}(i, k)$ in two sets $\mathcal{V}_{n-1}(\ell, k)$ and $\bigcup_{i=\ell+1}^{n-1} \mathcal{V}_{n-1}(i, k)$, and use the bijection between $\bigcup_{i=\ell+1}^{n-1} \mathcal{V}_{n-1}(i, k)$ and $\mathcal{U}_n(\ell+1, k)$.

For $\ell < k$, the sets $\mathcal{U}_n(\ell, k)$ and $\bigcup_{i=\ell}^{n-1} \mathcal{V}_{n-1}(i, k-1)$ have the same cardinalities. For the proof, we can use the bijection described above (let us notice that $\tilde{a}_n = a_{n-1} = k-1$).

Thus for $\ell < k$

$$u_n(\ell, k) = \sum_{i=\ell}^{n-1} v_{n-1}(i, k-1) .$$

To see why (6) and (6') hold, we can decompose $\bigcup_{i=\ell}^{n-1} \mathcal{V}_{n-1}(i, k-1)$ in two sets

$\mathcal{V}_{n-1}(\ell, k-1)$ and $\bigcup_{i=\ell+1}^{n-1} \mathcal{V}_{n-1}(i, k-1)$, and use the bijection between

$$\bigcup_{i=\ell+1}^{n-1} \mathcal{V}_{n-1}(i, k-1)$$

$$\text{and } \mathcal{U}_n(\ell+1, k) \quad \text{if } \ell+1 < k ,$$

$$\mathcal{U}_n(\ell+1, k-1) \quad \text{if } \ell+1 = k .$$

Similarly, we have for $\ell > k$,

$$v_n(\ell, k) = u_{n-1}(\ell-1, k) + v_n(\ell-1, k) \quad \text{if } \ell > k+1 \quad (7)$$

$$\text{and } v_n(\ell, k) = v_n(\ell-1, k+1) \quad \text{if } \ell = k+1 \quad (7')$$

$$(u_{n-1}(\ell-1, k) = 0 \quad \text{if } \ell = k+1)$$

and for $\ell < k$,

$$v_n(\ell, k) = u_{n-1}(\ell-1, k-1) + v_n(\ell-1, k) \quad (8)$$

3) If n is odd, we also establish a relation concerning the numbers $s(\ell, k)$.

More precisely, if n is odd and for $1 \leq \ell \leq n-1$, $1 \leq k \leq n-1$, $\ell \neq k$, the number of alternating permutations of order n starting with ℓ and ending with k is equal to the number of alternating permutations of order n starting with $\ell+1$ and ending with $k+1$.

In other words

$$s_n(\ell+1, k+1) = s_n(\ell, k) \quad (9)$$

Indeed

for $\ell < k$,

$$\begin{aligned} & s_n(\ell+1, k+1) \\ &= u_n(\ell+1, k+1) + v_n(\ell+1, k+1) \\ &= u_n(\ell+1, k+1) + u_{n-1}(\ell, k) + v_n(\ell, k+1) && \text{(cf (8))} \\ &= u_n(\ell+1, k+1) + u_{n-1}(\ell, k) + v_n(k+1, \ell) && \text{(cf (2))} \\ &= u_n(\ell+1, k+1) + u_{n-1}(\ell, k) + u_{n-1}(k, \ell) + v_n(k, \ell) && \text{(cf (7))} \\ &= u_n(\ell+1, k+1) + v_{n-1}(\ell, k) + v_{n-1}(k, \ell) + v_n(\ell, k) && \text{(cf (2) et (3))} \\ &= u_n(\ell, k+1) + v_{n-1}(k, \ell) + v_n(\ell, k) && \text{(cf (6))} \\ &= u_n(k+1, \ell) + v_{n-1}(k, \ell) + v_n(\ell, k) && \text{(cf (1))} \\ &= u_n(k, \ell) + v_n(\ell, k) && \text{(cf (5))} \\ &= u_n(\ell, k) + v_n(\ell, k) && \text{(cf (1))} \\ &= s_n(\ell, k) \end{aligned}$$

For $\ell > k$, the proof is along the same lines as in the previous case.

3.- From these results, we can set relations between numbers $U_n(d)$, $V_n(d)$ and $S_n(d)$ and therefore we can prove Proposition 1 and Proposition 2 (cf. 2).

1) Proof of Proposition 1.

If n is even, we have

$$U_n(d) = V_n(-d) \text{ et } V_n(d) = U_n(-d) \quad (10)$$

Indeed

$$U_n(d) = \sum_{(i,j) \in \mathfrak{C}_n(d)} u_n(i,j) = \sum_{(j,i) \in \mathfrak{C}_n(-d)} v_n(j,i) = V_n(-d)$$

Similarly, $V_n(d) = U_n(-d)$.

If n is odd, we have

$$U_n(d) = U_n(-d) = V_n(d) = V_n(-d) \quad (11)$$

Indeed

$$U_n(d) = \sum_{(i,j) \in \mathfrak{C}_n(d)} u_n(i,j) = \sum_{(j,i) \in \mathfrak{C}_n(-d)} u_n(j,i) = U_n(-d)$$

likewise, $V_n(d) = V_n(-d)$.

$$\text{And } U_n(d) = \sum_{(i,j) \in \mathfrak{C}_n(d)} u_n(i,j) = \sum_{(i,j) \in \mathfrak{C}_n(d)} v_n(n+1-i, n+1-j)$$

$$= \sum_{(i',j') \in \mathfrak{C}_n(-d)} v_n(i',j') = V_n(-d)$$

Therefore, for all n

$$U_n(d) + U_n(-d) = V_n(d) + V_n(-d) = S_n(d)$$

Thus Proposition 1 is proved.

2) Proof of Proposition 2

For all n , we have the following relations between $U_n(d)$ et $V_n(d)$:

$$U_n(d) = V_{n+1}(d+1) - V_{n+1}(d) + u_{n+1}(1, d+1) \tag{13}$$

and
$$V_n(d) = U_{n+1}(d) - U_{n+1}(d+1) \tag{14}$$

In order to prove (13), we use the relations (7) and (4)

$$\begin{aligned} V_{n+1}(d+1) - V_{n+1}(d) &= \sum_{i=1}^{n-d} v_{n+1}(i+d+1, i) - \sum_{j=1}^{n-d+1} v_{n+1}(j+d, j) \\ &= \sum_{m=1}^{n-d} u_n(m+d, m) - v_{n+1}(n+1, n-d+1) \\ &= U_n(d) - u_{n+1}(1, d+1) . \end{aligned}$$

In the same way, let us prove (14) using (5)

If n is even, let us deduce considering (11), (13), (14) :

$$S_n(d) = U_n(d) + V_n(d) = u_{n+1}(1, d+1) .$$

If n is odd, let us consider (9) and deduce :

$$s_n(d+j, j) = s_n(d+1, 1) \quad \text{for } 1 \leq j \leq n-d .$$

But for each value of n , we state $s_n(d+1, 1) = s_n(1, d+1) = u_n(1, d+1)$, since there is an obvious bijection between $\mathcal{S}_n(\ell, k)$ and $\mathcal{S}_n(k, \ell)$, and $\mathcal{S}_n(1, m)$ and $\mathcal{U}_n(1, m)$ are identical.

Therefore when n is odd,

$$S_n(d) = \sum_{j=1}^{n-d} s_n(d+j, j) = (n-d) u_n(1, d+1) .$$

Finally, we have

$$\begin{aligned} S_n(d) &= U_n(d) + V_n(d) = U_n(d) + U_n(-d) \\ &= V_n(d) + V_n(-d) \\ &= u_{n+1}(1, d+1) \quad \text{if } n \text{ is even} \\ &= (n-d) u_n(1, d+1) \quad \text{if } n \text{ is odd.} \end{aligned}$$

Moreover, when n is odd, we can notice that $u_n(1, d+1)$ is the number of up-down permutations of order $n-1$ starting with d (denoted by $u_{n-1}(d, \cdot)$), since there is a bijection between $\mathcal{U}_n(1, d+1)$ and the set of down-up permutations of order $n-1$ ending with d . This bijection can be seen as follows : given a permutation of $\mathcal{U}_n(1, d+1)$, we can define a down-up permutation of order $n-1$ ending with d by omitting its first term (equal to 1) and by decreasing (cf. [4]) the other terms. And since n is odd, it is easy to transform the down-up permutations of order $n-1$ ending with d in order to obtain the up-down permutations of order $n-1$ starting with d (by inversion of the terms).

Likewise, when n is even, $u_{n+1}(1, d+1)$ is equal to the number of up-down permutations of order n starting with d (denoted by $u_n(d, \cdot)$).

This is the way we prove Proposition 2.

APPENDIX

For $n=6$ and $n=7$, using recurrence relations (5), (6), (7), (8), let us set the tables of numbers $u_n(\ell, k)$, $v_n(\ell, k)$ and $s_n(\ell, k)$.

For given n , in the table of numbers $u_n(\ell, k)$ (resp. $v_n(\ell, k)$, $s_n(\ell, k)$), we find the numbers $U_n(d)$ and $U_n(-d)$ (resp. $V_n(d)$ and $V_n(-d)$, $S_n(d)$ and $S_n(-d)$) in the last column and in the last row.

for $n=6$

$$S_6(1) = U_6(1) + U_6(-1) = V_6(1) + V_6(-1) = 8 + 8 = 16 = u_6(1, \cdot)$$

$$S_6(2) = U_6(2) + U_6(-2) = V_6(2) + V_6(-2) = 12 + 4 = 16 = u_6(2, \cdot)$$

$$S_6(3) = U_6(3) + U_6(-3) = V_6(3) + V_6(-3) = 13 + 1 = 14 = u_6(3, \cdot)$$

$$S_6(4) = U_6(4) + U_6(-4) = V_6(4) + V_6(-4) = 10 + 0 = 10 = u_6(4, \cdot)$$

$$S_6(5) = U_6(5) + U_6(-5) = V_6(5) + V_6(-5) = 5 + 0 = 5 = u_6(5, \cdot)$$

and for $n=7$

$$S_7(1) = U_7(1) + U_7(-1) = V_7(1) + V_7(-1) = 48 + 48 = 96 = 6 \times 16 = 6 u_6(1, \cdot)$$

$$S_7(2) = U_7(2) + U_7(-2) = V_7(2) + V_7(-2) = 40 + 40 = 80 = 5 \times 16 = 5 u_6(2, \cdot)$$

$$S_7(3) = U_7(3) + U_7(-3) = V_7(3) + V_7(-3) = 28 + 28 = 56 = 4 \times 14 = 4 u_6(3, \cdot)$$

$$S_7(4) = U_7(4) + U_7(-4) = V_7(4) + V_7(-4) = 15 + 15 = 30 = 3 \times 10 = 3 u_6(4, \cdot)$$

$$S_7(5) = U_7(5) + U_7(-5) = V_7(5) + V_7(-5) = 5 + 5 = 10 = 2 \times 5 = 2 u_6(5, \cdot)$$

n=6

$\ell \backslash k$	1	2	3	4	5	6	
1	0	0	2	4	5	5	
2	0	0	2	4	5	5	5
3	0	2	0	4	4	4	10
4	0	2	4	0	2	2	13
5	0	1	2	2	0	0	12
6	0	0	0	0	0	0	8
		0	0	1	4	8	

table of numbers

 $u_6(\ell, k)$

$\ell \backslash k$	1	2	3	4	5	6	
1	0	0	0	0	0	0	
2	0	0	2	2	1	0	0
3	2	2	0	4	2	0	0
4	4	4	4	0	2	0	1
5	5	5	4	2	0	0	4
6	5	5	4	2	0	0	8
		5	10	13	12	8	0

table of numbers

 $v_6(\ell, k)$

$\ell \backslash k$	1	2	3	4	5	6	
1	0	0	2	4	5	5	
2	0	0	4	6	6	5	5
3	2	4	0	8	6	4	10
4	4	6	8	0	4	2	14
5	5	6	6	4	0	0	16
6	5	5	4	2	0	0	16
		5	10	14	16	16	0

table of numbers

 $s_6(\ell, k)$

n=7

$\ell \backslash k$	1	2	3	4	5	6	7	
1	0	16	16	14	10	5	0	
2	16	0	16	14	10	5	0	0
3	16	16	0	12	8	4	0	5
4	14	14	12	0	4	2	0	15
5	10	10	8	4	0	0	0	28
6	5	5	4	2	0	0	0	40
7	0	0	0	0	0	0	0	48
		0	5	15	28	40	48	0

table of number
 $u_7(\ell, k)$

$\ell \backslash k$	1	2	3	4	5	6	7	
1	0	0	0	0	0	0	0	
2	0	0	0	2	4	5	5	0
3	0	0	0	4	8	10	10	5
4	0	2	4	0	12	14	14	15
5	0	4	8	12	0	16	16	28
6	0	5	10	14	16	0	16	40
7	0	5	10	14	16	16	0	48
		0	5	15	28	40	48	0

table of number
 $v_7(\ell, k)$

$\ell \backslash k$	1	2	3	4	5	6	7	
1	0	16	16	14	10	5	0	
2	16	0	16	16	14	10	5	0
3	16	16	0	16	16	14	10	10
4	14	16	16	0	16	16	14	30
5	10	14	16	16	0	16	16	56
6	5	10	14	16	16	0	16	80
7	0	5	10	14	16	16	0	96
		0	10	30	56	80	96	

table of number
 $s_7(\ell, k)$

References

- [1] D. André : Sur les permutations alternées,
J. Math. Pures Appl., 7, pp. 167-184.
- [2] R.C. Entringer : A combinatorial interpretation of the Euler and Bernoulli numbers,
Nieuw Ark. Wisk., 14 (1966), p. 241.
- [3] D. Foata et M.P. Schützenberger : Nombres d'Euler et permutations alternantes, in
J.N. Srivastana et al. (eds), A Survey of Combinatorial Theory, North-Holland,
Amsterdam, 1973, pp. 173-187.